6.3 Graphing Using Intercepts

Part 1: Do It Now!

What are the x and y intercepts of the following line:

x-intercept: (‘ 3 )O )

y-intercept: CO — ul )

When a line is written in standard form, Ax + By + C = 0, or

the form Ax + By = —C, itis easy to graph the line using
L ond (j - in‘l’erce(@-fs




The x-intercept is the x-coordinate of the point where
the line crosses the x-axis.

Ly
At the x-intercept, U = O . ' )
\ _-y-intercept
The y-intercept is the y-coordinate of the point )
where the line crosses the y-axis. f‘"ntercem
At the y-intercept, X = O ) 0 ¥ \ X

Example 1:
Determine the intercepts for the line 2x- 3y- 6 = 0 and use these points to
graph the line.

To find the x-intercept, To find the y-intercept,
set y = 0 and solve: set x = 0 and solve:

2x-3(0)- 620 20)-3y-6=0
9\%“6:0 ,33‘__6:0
& =6 =6
Z 3 “3Y=6
x:g— :?43
3 )73
Y=-2
y-int 1 (0,-3)
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Example 2:

T TrTrTTd

Determine the intercepts for the line 2x — y = 7 and use these points to graph

the line.

To find the x-intercept,
set y=0 and solve:

dn-0:="7
X% = [

-
-

%7
1=3.5

]6"“"\': (3.5,0)

To find the y-intercept,
set x = 0 and solve:

2(0) -4 =T
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Example 3:
a) Determine the intercepts for the line 5x-6y + 30 = 0.

Y- \X :,in—\—

§x -6(8)+30=0 §0) -64+30 20
Sxx30:=0 -65*30=0
fx =-30 - 63 =-30
= '3.9— < '_3—Q-
% 5 lj - "6
Lz-6 y=5
b) Use the intercepts to determine the slope of the line.
cL e 5y Y
Pt 11 (-6,0) Remember:
fJo\«\g. : (OJ 5 ) —
Yo R Slope = 2224
X2—Xq




c) Write the equation of the line

’ = 2 4 ’

10+

d) Graph the line

L2 4 .6 .8 10

Example 4: Determine the slope of the line whose x-intercept is -4
and y-intercept is -6.

Yok 1° CO-G')"f,\j(‘))

Port Q: (0,"6) X% 0-¢Y)
Ya Y



Consolidate:
State the steps needed to graph a line using the intercepts.

1) Solve for they y-intercept be setting x = 0
2) Solve for they x-intercept be setting y = 0
3) Plot the intercepts and draw a straight line through them



